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B.A./B.Sc. 5th Semester (Honours) Examination, 2022 (CBCS)
Subject : Economics
Course : DSE-2
(Environmental Economics)
Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.
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1. Answer any ten questions: 2x10=20

@ @I wiG dead Tea e

(a) What is market failure? I
e gLl A2

(b) Distinguish between open access resource and common property resource.
i SRRl TR G SR TG S AT - W ANy |

(c) Define externality.
Fifreel @i |

(d) Distinguish between economic development and sustainable development.
w1fefe T @ I SHAER W@ ALy I

(e) What is free rider problem?
F qRTR T 2

(f) Give one example each of “‘public good’ and ‘public bad’.

‘public good’ @<} ‘public bad’-a% GF FE Tuizad wie |

(g) What is tradable permit?

ey SEEeAa 2 _
(h) Write the full form of UNEP and CPCB.
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(i) What is Transboundary environmental problem?

R Al T e
(j) What do you mean by natural capital?
AT I FET0S B (AR

(k) What is Green-Bench?
T @ 2
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(1) What is effluent fee?
5 & e
(m) What are two economic impacts of climate change?
TR AT i wdfes qer F fe
(n) What is carbon tax?
I 7 e
(o) What is Paris Agreement?
M pfe e
2. Answer any four questions: 5x4=20
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(a) Discuss sustainability rules in the context of development.

TR At e fNawsfE i @i

(b) Discuss the concept of market failure in presence of externality. -
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(c) Distinguish between public good and private good.
TG ¥ € JfEare w@E Ty AL T
(d) Briefly explain optimum pollution control model.
Ardten e fragd weeAt ATEA I A |
(e) Discuss the functions of Pollution Control Institutions.
wad g efedmefa SrieEl e S
() Discuss the two important features of transboundary pollution problems.
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3. Answer any two questions: 10x2=20
@ e §f5 2vid TEd WIS
(a) Explain the concept of property right. Discuss Coase theorem in this respect.
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(b) Discuss the concept of Pigovian tax. Explain it with a suitable diagram.

oia 2wa A g SEHA I | CoRe HaTrans a7 [ I

(c) Discuss cost-benefit analysis for environmental assessment.

Afx JEAEA T cost-benefit RERAG wc=iv F1 |

(d) State and explain interlinkage between economy and environment.
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1. Answer any ten questions:
@ (I G A0 TR WSS
(a) State the Coase theorem.
(b) Mention two basic characteristics of public good.
sieizelsy WRIA o T9 e S Al
(c) State two objectives of Public Finance.

Public Finance-43 ¥io ST#l Tl |

(d) What is meant by tax neutrality?
T4 el e A Q@2

(e) Distinguish between shifting of tax and incidence of tax.
TET AN € FANST A AL o T |

(f) What is ‘free rider’ problem?
‘free rider’ T F?

(g) What is indirect tax? Give an example.
ATAE &9 IE A7 93 THZA He |

(h) What are the principles of taxation?
T 2oEe Afesf @ e
(i) What is Pigovian Tax?
Pigovian (Prstifemm) &= iy
(j) What is meant by positive externality? Give an example.

NS RO I T @2 I THZd wie |

(k) What is Laffer Curve?
TIFR (@I e

(1) Do you think income tax to be a direct tax? Why?
o B YA I @ T TR oerE 397 @2
(m) Why is GST is introduced in an economy?
43 AT GST @ 2w 1 232

(n) Mention two main reasons behind market failure.
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(0) What is anti-inflationary Fiscal Policy?
mife-eferres aem T e
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2. Answer any four questions: IN=el
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(1) Discuss the burden of external borrowing.
AG® 1 @R FS[ WIEST @
(b) What does Fiscal Policy deal with? Can Fiscal Policy ensure price stability? Give your

argument. 1+4=5
e e e <

(c) What is Balanced Budget multiplier? Explain its working mechanism. 14+4=5
AN AMED ©fF T 7 97 IS G IE |

(d) What is Progressive tax? Explain the ‘ability to pay’ principle of taxation. 2+43=5

TR/ 2T TR M e N A F9 w3 @l

(e) Distinguish between Private and Social Cost. Explain in brief how a Pigovian tax can bring
the two nearer. 243=5
alf@ﬁ@ameﬂmﬁmsamammfﬂmlmmﬁmmmm%@mﬁm
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(f) Write short notes: 2Vax2=5

Ay DR e
(i) Optimal taxation (339 22 2MTR)
(ii) Fiscal Federalism in India (SI(S ‘AGTE T a=e/onaen’)

3. Answer any two questions: 10x2=20
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(a) Mention one difference between the two subjects—Public Economics and Public Finance.
Analyse why the market principle fails to achieve efficient resource allocation in the casc
of social goods. 1+9=10
1 SN & il anmicEm —az e s aaf s ol Fa | AiEE vasha
CFE A e e A A%m a9 @ Qe o)

(b) Whatis burden of tax? Which policy is more expansionary—arise in government expenditure
or a reduction in taxes? Explain your view. 149=10
Wwﬁm?wﬁmaaimm—ﬁqﬁ?ﬁﬁﬂammﬁ@ﬁ
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(c) What do you mean by Deficit Financing? How does deficit financing affect long-run

growth? 2+8=10
AIBTS TREE <00 B @I 2 TR A St o B Deficit Financing #e1a
gelfde F 2

(d) What do you mean by tax? Distinguish between income tax and expenditure tax with respect
to their merits and demerits. 149=10

wﬁ?wm@maﬁmewqﬁmﬂﬁzﬁﬁmmﬂmmﬂ%ﬂml




